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Rising Prices	


The prices of everyday items generally increase over time, due to inflation. The U.S. Bureau of Labor Statistics measures this growth in its Consumer Price Index (CPI).


During 1992, the CPI increased by 3% (source: Statistical Abstract 1993). This means that, on average, consumer items cost 3% more than in the previous year.


1. 	Suppose that a certain tape recorder cost $100 in 1991.


a.	How much would the tape recorder cost in 1992, assuming that its price rose at the same rate as the CPI?


b.	Assume that the price of the tape recorder continues to grow at an annual rate of 3%. Write an algebraic expression for a function P(t) that describes the price of the tape recorder after t years have passed since 1991 (so t=0 represents 1991, t=1 represents 1992, t=2 represents 1993, and so on).


c.	Graph the function P(t).


d.	How long will it take for the price of the tape recorder to reach $200?


2.	One student wrote in response to question 1b:


The price in dollars of the tape recorder in the year 1991 + t�is given by P(t) = 100 + 3t.


a.	Explain in your own words how the function P(t) = 100 + 3t behaves, and why the student’s answer to 1b is incorrect even though P(1) has the right value.


b.	Nonetheless, graph the function P(t) = 100 + 3t.


c.	What if the function P(t) = 100 + 3t actually were an accurate model for inflation? State several different ways to recognize that this would be a different kind of growth from what you observed in question 1. Some ideas to consider: what do the graphs of the two functions look like? how long does it take for each function to reach $200?
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